LONG MULTIPLICATION

3-DIGIT BY 1-DIGIT (WITHOUT REGROUPING)
WORKSHEET - 6

419 725 540 934

x 2 x 6 x 4 x 5

18 30 0 20

+ 20 + 120 + 160 + 150
+ 800 + 4200 + 2000 + 4500
= 838 = 4350 = 2160 = 4670
863 279 988 670

X 2 x5 X 3 X 4

6 45 24 0

+ 120 + 350 + 240 + 280
+ 1600 + 1000 + 2700 + 2400
= 1726 = 1395 = 2964 = 2680
256 338 468 897

x 7 x 2 x 2 x 4

42 16 16 28

+ 350 + 60 + 120 + 360
+ 1400 + 600 + 800 + 3200
= 1792 = 676 = 936 = 3588
694 255 709 164

x 2 x 8 x5 x 7

8 40 45 28

+ 180 + 400 + 0 + 420
+ 1200 + 1600 + 3500 + 700
= 1388 = 2040 = 3545 = 1148
495 382 633 652

x 8 x 7 x 4 x 3

40 14 12 6

+ 720 + 560 + 120 + 150
+ 3200 + 2100 + 2400 + 1800
= 3960 = 2674 = 2532 = 1956
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